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Simplify each radical.
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Factor Completely.
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Solve the following using the method of your choice: factoring, completing the square. square

root method, or quadratic formula.
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Determine x and

intercepts of the following functions:
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Determine whether the given functions have a maximum or a minimum and where it is.
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Determine the end behavior of the following functions.
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List the transformations of the following functions.
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Rewrite the following into vertex form (#9) or standard form (#10
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Determine the domain and range of:
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Use the information provided to write the standard form equation of each circle.

1) Center: ( 14, 8) , ( 17 _)
2) Center: [——, 2V 22
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Use the information provided to write the general conic form equation of each circle.
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Ch
00se your own method to solve each equation. Be sure to use different methods
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Find the x and y intercep(s).
7) f(x)=8x* —8x _ g
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Find the following: Direction, axis of symmetry, vertex, X -intercepts, y - intercept, range, end
behavior, maximum, minimum, interval of increase, interval of decrease and rate of change

between x =1 and x=3. ' . A= -1z
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